








* [f the mass of the object is ‘m’ and velocity of the

object is | @'4

@%5\ e
* Then , momentum p= v N \®

P

, !
hiéf% P ‘Oaxjﬁ/aa =200 4 WS o



* [f the mass of the object1s ‘m’ and velocity of the i
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Concept of

Nucleus

1st shell = 2 electrons K

=1—s 2
@ = h= 2: 30V h o’ 2nd shell = 8 electrons(L)

\Srd shell=18 electron( /)y
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* [f an electron goes down from 7
what will happen?

F—9
« i)electron will have to receive energ
w@?felectron will have to release energy
* [i1) none of them
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1) Can not explain the m@ of ions<o atoms b,
A 7 M ~

containing more than one electron . 5

2) Except circular orbit, there 1s oval shaped
which 1s not explained

* by Bohr’s model.
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*3) In spectrum , more than one line 1s seen.



3) In spectrum , more than one line 1s seen

Explanation: %
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Each orbit contains maximum 2n? electron.

n="1 Zﬁﬂj:>

h=2 Z\GW:78

Nucleus

1st shell = 2 electrons

2nd shell = 8 electrons

——

\3rd shell Iectrons



e What is maximum number of electron 4t shell can

contain ? n

2 W y
.i) 18 n=Y QK[ZJ[)T76X? 32
*111) 50

*1v) 64



*In orbit, the place where the probability of finding
electron 1s high is called orbital

* The value of different sub levels depends on 1.
* For any orbit (n) ,

@fmmOto (n-1) n -7









*Bycn=35and 1 =1 which of the following orbital can

be represented? (=0 —> &
= —
1) 4s 4 f
*ii) 5s 5
“iii) 5p p

+iv) 4p



* There can be maximum 2(21+1) electrons in each sub

level. 2(2.0+7) 2@)— @
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Electron will enter into th@orbital f%@

entering 1in atom. Later, electron will enter into the high

bital gradually. |
energy orbital gradually /OVL/QK\% %ﬂ%@/{

The energy of orbital depends on the value 0@



* [f the value of (n+]) is same for more than orbitals then ,
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In which orbital , 19™ electron of K will enter into first ?

1.3d) o] = (1) — (3+2) =
(24s — (4 f@:y
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y 4? Gr1)=¢
S C4r3)= 2






* Which one of the following 1s the correct electron
configuration of F(9)? %

4) = 15 2520
*i) 1s2 252 2p* F @O) =75 g

2if) 1s? 2522p° -
i) 1s? 252 2p? )
* iv) 1s? 2s?2p’



* [f p and d orbitals are filled or half filled, they remains

ble . Y,
very stable Jf/% : \,’! .
coray= (10 20 e 2
3 45V




Thank you everyone
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